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QUESTION 1

What is one reason to deploy an Aruba CX switch when compared to an ArubaOS switch? 

A. to obtain API-enabled programmability for greater automation 

B. to support Aruba Dynamic Segmentation 

C. to obtain higher wattage power modules for enhanced PoE+ support 

D. to support Zero Touch provisioning (ZTP) 

Correct Answer: C 

 

QUESTION 2

A retail customer is doing a wired and a wireless refresh with Arut>a CX switches and S02.11ax APs. Currently, trey
nave wireless Point of Sales (PoS) systems and would like to assure that the proposed deployment solution will comply
with the Payment Card Industry (PCI) Data Security Standard (DSS) requirements. The architect have proposed the
following deployment solutions regarding PCI DSS requirements\\' -IDS/IPS -Aruba APs in hybrid mode as well as in
dedicated AMs mode -Strong authentication and encryption for wireless -Built-in firewall and role-based access controls
to segment WLAN Which other requirements must you include in the existing deployment solution? (Select two.) 

A. Select the FIPS/TAA-compliant version for the Access Points. 

B. Suggest MACSet between the Aruba CX switches that encrypt all traffic over the link. 

C. Switch high-availability solution VSF and VSX also can encrypt all traffic on their switch links. 

D. Aruba Central or Aruba AirWave to generate a scheduled compliance reporting. 

E. Role-based access controls for wired users using ClearPass. Optionally ; tunneled-node to MCs. 

Correct Answer: DE 

 

QUESTION 3

Refer to the exhibit. 
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This warehouse has the dimensions shown in the exhibit. The warehouse is 20 feet (6 m) high up to a steel railing on
the 

celling. The shelves are about 16 feet (5m) high, and they hold large containers filled with fluid and metal equipment. 

The customer needs consistent wireless coverage throughout the warehouse, mostly to support the tablets that 

employees use to run Inventory tracking and other applications. The warehouse staff works in shifts of 20. 

The architect has selected AP-515S. About how many APs should the architect propose? 

A. about 13-16 

B. about 23-32 

C. about 6-8 

D. about 6-4 

Correct Answer: C 

 

QUESTION 4

A customer has critical wired endpoints. However, each endpointhas a single Ethernet connection to the network.
Thecustomer wants redundancy in the switch access layer to minimize the chances that an endpoint will lose this
connection. 
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The architect plans to deploy two Aruba CX 6405 switches in the closet. 

Which plan provides the greatest redundancy for this scenario? 

A. The 6405 Switches are in a VSF fabric, so the individual switches do not need redundant components. 

B. The 6405 switches are in a VSX fabric, and each has a redundant management module but not a redundant power
supply. 

C. The 6405 switches are not in a vsF fabric, and have redundant power supplies but not redundant management
modules. 

D. The 6405 switches are not in a VSX fabric, and have redundant power supplies and redundant management
modules. 

Correct Answer: B 

 

 

QUESTION 5

What is one additional benefit trial Foundation Care gives beyond ire included warranty in Aruba products? 

A. Next Business Day Snipping 

B. unlimited 24x7 access to TAG and online support 

C. business hour prone support for hardware issues 

D. installation and getting started services 

Correct Answer: A 
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